
 

 

 
MPSG 2018 Scientific Research & Experimental Development 

(SR&ED) Tax Credit Package – Farm Proprietorship 
 
Farmers who contribute pulse check-off dollars to the Manitoba Pulse & Soybean Growers (MPSG) 

and are in good standing with the association are eligible to claim a federal tax credit through the 

Scientific Research and Experimental Development (SR&ED) program. Check-off dollars that have 

been refunded by MPSG do not qualify for this tax credit.  The tax credit is based on the amount of 

check-off MPSG invests in research and development that meet specific criteria set out by the 

Canada Revenue Agency (CRA).   

 

For the 2018 tax year, 40.05% of the Manitoba pulse check-off qualifies for the SR&ED tax 

credit. 

 

An individual operating as a farm proprietorship can calculate their total check-off contribution by 

referring to their pulse and soybean sales receipts.   The check-off contribution is shown as a 

deduction from the total pulse and soybean sales on the sales receipt.  Total contribution for the 

year is the amount withheld from all your pulse and soybean sales during the year.  Of this total, 

40.05% is eligible to earn an investment tax credit in 2018. 

 

As a farm proprietorship, an individual can claim this credit up to a maximum of 15%.  The claim 

for this credit is claimed in Part A of from T2038 (IND) and must be filed with your personal tax 

return.     

 

This credit may then be used to reduce federal taxes payable in the current year.  If the corporation 

does not owe federal taxes in the current year, this may be partially refunded. Other options include 

carrying the credit forward up to 10 years to offset federal tax or carrying it back up to three years. 

All check-off investment tax credit applied against taxes payable, or refunded, must be reported by 

the producer as income in the subsequent year. 

 

A completed T2038 (IND) for a farm proprietorship that has paid a total of $5,000 in check-off to 

MPSG in 2018 has been included to use a reference guide.  In this example, the individual can claim 

a $240.30 investment tax credit.   

 

 

 

 

 

 



 

 

It is noted that the investment tax credit (ITC) received MUST be included in income the 

subsequent year.  The following example shows the NET tax advantage received by the individual 

between 2018 and 2019: 

 

 

 

 

 

 

 

 

For more information on this credit, please consult your accountant or visit the CRA website. 

The 2001 – 2017 SR&ED tax credit rates are also available on the MPSG website. 

If you have any other questions, please do not hesitate to melissa@manitobapulse.ca 

 

Notes for Accountants 

• Form T661 does not need to be completed as this is completed and filed on behalf of it’s 

member producers by MPSG.  Only the lines shown in the accompanying example need to be 

completed. 

• Eligible SR&ED expenditures for the year can easily be determined from the pulse and 

soybean sales receipts of the farm corporation for the year.  This is shown as a deduction 

from the total payment that is received from the buyer as in the example below: 

 

The total deductions withheld for the year from all sales receipts are the amounts eligible.  

• Where a producer has received a check-off refund from MPSG (or any other commodity), 

these amounts that are shown as withheld on sales receipts are not eligible expenditures for 

SR&ED as they have been returned to the producer and should be shown as income by the 

corporation.  

• The amount that is used as the SR&ED expenditure is the total amount for ALL 

commodities. Any commodity group that funds third party research has qualifying SR&ED 

expenditures and is able to pass this benefit on its producers.  Each group will have a 

different SR&ED rate and it will have to be calculated separately with the total being the 

amount included in your claim (example follows on next page). 

To determine the appropriate SR&ED rate to be used for other commodities where check-

off has been paid, please direct your inquiries to those organizations.   

   

 

 

Farm Proprietorship 

ITC claimed for 2018  $240.30 

Tax on ITC in 2019 - $240.30 x 15% = $36.05 

Net Tax Advantage - $240.30 – $36.05 = $204.26 



 

 

 

2018 Expenditure Claim Example  

 

MPSG check-off of $5,000, SR&ED rate of 40.05%  

  MFGA check-off of $1,000, SR&ED rate of 32.61% 

 

Total amount to be included on T2SCH31 lines 103, 350, 380 and 420: 

  MPSG - $5,000 x 40.05% x 80% = $1,602.00 

  MFGA - $1,000 x 32.61% x 80% = $   261.00 

  TOTAL EXPENDITURE CLAIM        $1,863.00 

.0 

             

             INVESTMENT TAX CREDIT = $1,863 x 15% = $279.45 
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"�#
$'�
&�
�
�
L�:4/�7����M7�/W
�
�
'���&"&��
��#����%,�
&'
 �k*X�#
��#�
&�"�#�%�&��
��
�
�
\��%��&�
��C�'�����
�%D
!#��&�W
C&'&�

�%�%�%*�%
%��
$'�
�
�
'�%#�

(%#
��
"&��
�
�
l\��%��&�
&�C�'�����
�%D
�#��&�l
	�(
�%,�*



������������	
��
�������������
�
��
������������ ��!������������ �������"�#������$��%&������ �����"����'������()���!��������*���)!����#&+,-�%.$��� ����&+,-���()�����$��"/�0
���
1���23�
4�2���2�2�
1�4��1�

���
�5��12������
��3��������
6789:;<
=>?4
��
@0��2�2��
�5����2�01�4A
/�0
���
1���23�
�
��
2�
�
�
��1�
��
�
��4

1��0��
�1
�
1��0��2��
��
��5
��B�C��
�1
C��
A
D�04��
789:;
=>?4
���
C�
��112��
C��E
�
1��
B��14
�1
��112��
��1	�1�
�F
B��14A>�
C�
�
@0��2�2��
789:;
�5����2�01�G
�
�
���0��

�4
��
C�
2��011��
��1
789:;
��112��
��
2�
?�����A
H�1
��5
�01��4�4G
?�����
2���0��4
�
�
I�5��0423�
������2�
J���I
6�4
���2���
2�
�
�
K����4
L��
��
����1���B
���424�
��
��
�1��
��
�
�
4��
�
��
24
	2�
2�
�FF
��0�2���
�2��4
�1��
�
�
?����2��
���4��2��<G
�
�
�214����G
4��C��G
���
40C4�2�
��
�
��
J���AM0��2�2��
�5����2�01�4
���
2���0��
��
���0��
2��011��
2�
�
�
B��1
2�
1�4����
��
789:;
��112��
��
CB
B�0G
�1
��
B�01
C�
���G
�
��
1�����
��
B�01
C042��44

���
24NO�
�011���
�5����2�01�
��
789:;POQRS�� �����()�����$��
2�
1�4����
��
��
789:;
����1���
�1
�
�
21�T��1�B
��B����
��1
789:;P
��UVW������ �����X$��� �����()�����$��OL���1
�FYZ
�
�
1���
24
Y[\]���H�1
��1�
2���1���2��G
����4�
4��
H�1�
>��YG
7�2���2�2�
8�4��1�

���
:5��12������
;�3��������
6789:;<
:5����2�01�4
?��2�A
=�
B�0
�1�
���2�2��
��
=>?
��1
�
@0��2�2��
789:;
�5����2�01�G
�1
B�0
�1�
1���1�2��
��
=>?
1�����01�
��1
��
=>?
�1�32�04�B
���2���
��
��
�5����2�01�
��1
789:;G
�2��
H�1�
>��Y
	2�

B�01
>Y
̂���1��A
H�1

���
�������2��
�
�
��1�G
4��
̂02��
>_F̀ G̀
7�2���2�2�
8�4��1�

���
:5��12������
;�3��������
6789:;<
:5����2�01�4
?��2�T0̂2��
��
H�1�
>��YA
������� ����a��!�Vbbc�� �d�$���������!��e���������� ���������f$����"�!��������e���$��$������e���g�����"h�������������f�"����������������������������d�$�fd���)������"'�)������ViRcj�"��)h�&����!����� ��������"'�)�U���!�k�������"'�)�����������"L�
=>?
��1���
CB
�
��1���14
2�
24
040���B
���������
��
�
��1���1A
l�	�3�1G
��
=>?
��1���
��
@0��2�2��
789:;
�5����2�01�4
��B
���
C�
���������
��
�
4���2�2��
���C�1
��
�
��1���14
2�A
=�
B�0
1���23��
��
�������2��
��
=>?
�1��
�
��1���14
2�G
����1
�
24
���������
�1��2�
��
�2��
�m�[
2�
��1�
LA
H�1
��1�
2���1���2��G
4��
40C4���2��
Y�m6̀<
��
�
�
L��G
���
�
�
789:;
?��2�4
��1
��1���14
2�4
���2�BAW�����f$����"�!��������e���$��$������e���g�����"� ���&+,-�L�12�0��01��
�1��0��14
���
����44
=>?4
��1���
��
����12C0�2��4
����
��
��12�0��01��
�1���2J��2��4
�
��
�0��
789:;A
:���1
�
�
���0��
��
�2��
�mY[
2�
��1�
LA
>
�
1���
24
Y[\AU� ��!���������&+,-�H�1
��1�
2���1���2��
��
789:;
���
���24���23�
�1
2���1�1����23�
�
����4NO4��
̂02��
>_F̀ G̀
7�2���2�2�
8�4��1�

���
:5��12������
;�3��������
6789:;<
:5����2�01�4
?��2�
̂02��
��
H�1�
>��YP
�1O��
��

������A��n��5�4T41��Ao��������()�����������(��������#o-VW%?�1��2�
1���0����
?����2��
�5���1��2��
�5���4�4
@0��2�B
��1
�
�
=>?A
H�1
?����2��
�5���1��2��
�5���4�4
1���0����
CB
�
��1��1��2��
��
��
2��232�0��
6�1
�
��1���14
2�
��
	
2�

�
�
2��232�0��
24
�
���C�1<
���
1���1���
2�
C�5
Y�̀
��
�
>YFYG
7��������
��
8�4�01��
:5���4�4
4�2�
�1
2�
C�5
Yp_
��
�
>[FYZG
7��������
��
��1���14
2�
=�����
4�2�G
�
�
4���2�2��
��1�������
24
Y[\A
/�0
�04�
40C�1���
�
�
���0��
��
��B
����	�C��
�1�32��2��
��5
�1��2�A
>
�
1��0��2��2��
�04�
C�
0���1
�
���	T�
1�0�

4
�1�
6H>7<
��1������
����1��
2���
� ���
q�1�

�FYm
���
f� ����L�12�
YG
�FYp
	2�

H>7
�2����2��
��1
�2��1��
�5���1��2��
6	
2�

�5��0��4
����
����42�4G
��1
4���4G
�2�
���
��4<Ar))�������"'�)�s�f������������(��������#rtWVW%L
��1�������
��
��2�2C��
4���1B
���
	���4
��B�C��
��
��
�����B��
1��24��1��
2�
�
�1�4�12C��
�1���
2�
?�����
2�
�
�
�214�
�_
����
4
��
�
�21
��2�2C��
���1���2��4
2�
����1���4
1��24��1��
2�
?�����G
@0��2�2�4
��1
�
�1��2�
��1
�
�
�����B�1A
>
�
�3�2��C��
�1��2�
24
cRS
��
�
�
��2�2C��
4���1B
���
	���4
��B�C��
2�
�
�
B��1
6�2�04
��B
��3�1�����
�1
���T��3�1�����
�4424�����<
0�
��
u�GFFF
��1
���

��2�2C��
���1���2��G
2�
1�4����
��
�����B����
� ���
q�B
YG
�FF�A
>
�
�����
��
�
�4�
���0��4
��1
���
���1���2��4
24
�
�
�3�2��C��
���T1��0���C��
��5
�1��2�A
L�B
0�04��
�1��2�
��B
C�
��112��
C��E
Z
B��14
�1
��112��
��1	�1�

�F
B��14AUVW� ����'���������")���":����B�14
�
��
�1����
�
2��
��1�
4����4
2�
�
�2���4��
�
2��
��1�
���2�2�B
��1
�
�
C����2�
��
�
2��1��
��
�
�
��5��B�1v4
�����B��4G
�1
��
�
���C2���2��
��
�
2��1��
��
�
�
��5��B�1v4
�����B��4
���
��
�1
�
2��1��G
	2��
@0��2�B
��1
�
���T1��0���C��
=>?
�@0��
��
�[\
��
��2�2C��
�
2��
��1�
4����
�5����2�01�4A
D���1
C0����
�FYm
�
�
=>?
��1
�
2��
��1�
4����4

�4
C���
1�������A
l�	�3�1G
�1��42�2����
1��2��
24
�3�2��C��
2�
1�4����
��
��2�2C��
�5����2�01�4
2��011��
C���1�
�F�F
0���1
�
	12����
��1������
����1��
2���
C���1�
q�1�

��G
�FYmG
���
� ���
q�1�

ỲG
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